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Q37 Arrange the following prehistoric culture characteristics in terms of their evolution. Use
the code given below:

I. Early civilization – Irrigation – Bronze Tools

II. Semi-Sedenterism – Multifaceted economy – Microliths

III. Nomadism – Hunting – Core Tools

IV. Sedenterism – Agriculture – Grounded Tools

Codes:

(A) III, IV, II, I

(B) II, IV, III, I

(C) III, II, IV, I

(D) II, III, I, IV

Q38. Match an item in List-I with an item in List- II. Use code given below.

List I

a) Hardy-Weinberg Law
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b) DNA Structure

c) Human Genome Project

d) PCR Technique

List II

(i) 1953

(ii) 1908

(iii) 1980

(iv) 1990

Codes:

(a) (b) (c) (d)

(A) (i) , (ii) , (iv) , (iii)

(B) (iv) , (iii) , (i) , (ii)

(C) (iii) , (i) , (iv) , (ii)

(D) (ii) , (i) , (iv) , (iii)

Q39. Match an item in List- I with an item in List-II. Use code given below

List I

a) Prosimians

b) Apes

c) Old World Monkeys

d) New World Monkeys

List II

(i) Marmoset

(ii) Lemurs

(iii) Gorilla

(iv) Baboon

Codes:

(a) (b) (c) (d)

(A) (iii) , (iv) , (i) , (ii)

(B) (ii) , (iii) , (iv) , (i)

(C) (iv) , (ii) , (iii) , (i)

(D) (i) , (iii) , (ii) , (iv)

Q40. Match an item in List-I with an item in List-II. Use the code given below:

List I

a) Genetic Drift
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b) Natural Selection

c) Genetic Linkage

d) Genetic Distance

List II

(i) Darwin-Wallace

(ii) Balakrishnan & Sanghvi

(iii) Sewall Wright

(iv) Morgan

Codes:

(a) (b) (c) (d)

(A) (iv) , (iii) , (ii) , (i)

(B) (iii) , (i) , (iv) , (ii)

(C) (ii) , (i) , (iv) , (iii)

(D) (i) , (iii) , (ii) , (iv)

Q41. Match an item in List-I with an item in List-II. Use code given below:

List – I

(a) Couple residing with husband՚s father՚s family

(b) Couple residing with husband՚s maternal uncle՚s family

(c) Couple residing with wife՚s mother՚s family

(d) Couple setting up an independent family

List – II

(i) Virilocal residence

(ii) Avanculocal residence

(iii) Neolocal residence

(iv) Matrilocal residence

Codes:

(a) (b) (c) (d)

(A) (i) (ii) (iv) (iii)

(B) (iii) (ii) (iv) (i)

(C) (ii) (iv) (iii) (i)

(D) (ii) (i) (iv) (iii)

Q42. Match an item in List-I with an item in List-II. Use codes given below:

List – I List – II
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Codes:

(a) (b) (c) (d)

(A) (iii) , (ii) , (iv) , (i)

(B) (ii) , (iii) , (iv) , (i)

(C) (ii) , (iv) , (iii) , (i)

(D) (iii) , (i) , (iv) , (ii)

(a)
Generalized
Reciprocity

(i) To get some goods or services without any intention of returning.

(b) Balanced
Reciprocity

(ii) When goods and services are given to another without any
apparent expectation of reciprocity.

(c)
Redistribution

(iii) Explicit and short term in terms in its expectation of return

(d) Negative
Reciprocity

(iv) Accumulation of goods or labour by particular person or in a
particular place for the purpose of subsequent distribution.

List – I List – II


